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Useful physical constants: &, 36n (F/m);

Uy =47 x107 (H/m)

1. REWEERRRT (TR n) Ei%  BREEFRE 10.0 MHz R E 1.0
X 10° m/sec - HIZ LB HVES E WIRIE  fEE A RERRIEGREE E(z=0,
t=0)=2.0V/m; 5ZE z JFEERE 5 AR%E (2=50m) » HIRIERS
1.0 V/m  ( $&7% : In 0.5=-0.693 )

(a) KIERASHHTHZE n - (5%)
(b) BEHES E fI—fFTRE - (10%)

2. B2ENE LL y=0 BF- y<0 BF>e=4.0 HEH E, =3a,+6a,+4a, ;
y>0H0f>ex=50-¢
(a) BTESRE y=0 JZEEMAEMER > K E;° (10%)

(b) ZEFRHE y=0 BEBHEE ps=0.25nC/m? > 3K E,;  (10%)

3. A—(EFRES - EEREEE 4m® - HWEEREEZ 0.0l m  EFE

INMEEEMEENEER &= 10.0 HEEZE o= 10" S/m - Z57E Wi{E B MR

o6V HYEEE -
(a) KR ESNESE - (5%)
(b) FEFEI-HRETHFEUERZ/VERJ)? (5%)

() B-PANEEHVHFEDIRZEL (W) ? (5%)
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4. % z B EA— IR EMELS - BH ENERI=107a,(A) -
(a) SREAE AR ERIERNO, 5, 0)ERES T ¢ (10%)
(b) KENERERR EE—E(p, ¢, 2) (p = 0) HYBESA/NRITTE © (20%)
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5. TETHEMRERES - -
(a) 7 BIEREA(L) ~ Q) WIE R EHHEE (divergence) HANE ~ FNE - BZ
NAE? (10%)
(b) 2y BIEREA(L) ~ QWERESEE(cu)EEHE ? IRAHE » 55:5H
HFAME - (10%)
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